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B - B = % 5
I IXADHEL
1 & A=A 10,000
FRBINA 228,000
2 EfFEIXA 170,000
3 HBEERA
A)BIREEZE 833,000
B)FB THIEEHENA 325,000
C)ETD < ) HFFEZEINA 150,000
4 B 0
5 MUXA 0
LHANAEET (A) 1,716,000
AR N S =B 1,337,559
IWAEET (B) 3,053,559
Il ZHDOE
1 EEE
A) B EZE 833,000
B) 1B Iz AL E 100,000
CET DL W EFxE 242,400
D)FETCHIESEE 270,000
1,445,400
2 BEE
BIEEME 100,000
HERE 10,000
KEHEE 120,000
FIRIZAE 0
i RN 600
MEFHT 0
SEE 10,000
RERBE 5,000
MR EEE 20,000
RBER} 5,000
HE 0
EEEET 270,600
HEATHAET  (c) 1,716,000
LEANE EE (A)- (c) 0
REpRRBINZ =8  (B)— (C) 1,337,559




